ERE (MEE) S BEE1 LEE IR s o TR0 = 3705 Y

- BEf= 2011/03/17 07:00 _ . PEIE 0 92km x 92km
S8TF—4 = GPV+EHIE (2011/03/17 07:00) T | FREE = 120.00 m
[~ ; N N, 3 ':".:;f"f::_'iij s —a T e 'H"f I‘q:”tn“ﬁ'i&a)ﬁl. : E 15 6 II'I/S
fBEm FZEH : i REREE : DR
40k T REYEE RO STEETILR= PHYSIC : '
s e W g SHEA Y alE KEHE= 2.00 kn
(‘3 ' ORDE

EERE
5 10 m/s

O 7THEHER1— 284




AKRHPRE (39%) (hEs) — BEE1 28F LKEE = MR 141°02°08” — 37725 18”
BEs= 2011/03/17 07:00 - 2011/03/17 08:00 | 4Bt . 92km x 92km
ﬁ%‘r 4 = GPV+EE”R'HIE (2011/03/17 07:00) T FREE =  1.00m
: - ; [FLE1]
*m.%'l-'ﬁ ﬁ}éfﬁ U« jcﬁth;’%l’s’t%iﬁﬁ@q/m)
40 km 71 ~ _ 1=5.00x10 ~11

2=1.00%10 1 cccccca=
3=5.00%10 12 cmmecmmemm
4=1.00%10 712 =mmemmeme
5=5.00x10 13 w e

BAEE=9.0x10 ~11Bq/m3
M ADE 4.6 kmith (<ED)

'§+§1=E'T")b%= PRWDA21
FRETILE= @EETI
(GtE&H] '
HEAYDalE KEAF= 1.00 km
H&m =120. Om ) :
PRIGERE  =20000 MWD/MTU
RFIE =1 B % =2011/03/11 16:00
Htljﬂﬁﬂﬂﬂ#il] =2011/03/17 07:00
MHE— F=HESkH
M RE - 2 (FBE) © Ba/h (Bg)
3% :1.00x10 0 (1.00x10 )

O 7R EHHEE1—28IF




EIE‘*"E— 2011/03/17 07 00 - 2011/03/17 08 00

KRET—4

20k

= GPV+#RAME (2011/03/17 07:00) & T

LR AN
)by N4

BEF 1
25

25F KEH

=FAR

CohEHMER 0 o 141702°08” — 37725187

PRI : 92km x 92km
(A1)
ZERIRIR IR E R EELR (1 Gy/h)

1=1.00x10 ~19

2=5.00%10 ~16 =eceeaan
3=1.00%10 716 cmcommcam
4=5.00%10 17 ===emaam-
5=1.00% 10 17 s = comm .

Bx@BEE=11x10 154 6y/h
BUHMADE 4.6 knhA (HED)

HEETILE= PRWDA21
FRETILE= BEETIL

GEEID
HEA v alE KEAR= 1.00 km
s =120.0m

PRBEEE  =20000 MWD/MTU _
RFIFEEIEEEZ=2011/03/11 16:00
W BRBEZ =2011/03/17 07:00
M E— F=BEHIEHH
MHEERE - 3 (FEE) © Ba/h (Bg)
#FHR 11.00x10 O (1.00x10 O

0 7THEHEE 1 —281F



